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7 878, =4 75<5?L=O5 GG4EF><, 6E>4OM<5 6 7D4=<FO >ED4==OE 7>=
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3. �<=<EF5DEF6G 7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O

47?><5D4F<= �<657>D>4E>>= >5?4EF<:

3.1. �4?D46<FL 6 D<?<4? ?G5?<G=>-?D46>6>= >><?4=<< «$>E>444EFD» ?>

�<657>D>4E>>= >5?4EF< E6545=<O > 7D4=<F4E >ED4==OE 7>= EGM5EF6GNM<E

747>D4E?D545?<F5?L=OE E5F5=.

3.2. �4?D46<FL >>?<N =4EF>OM57> ?D<>474 6 >D74= <5EF=>7>

E4<>G?D46?5=<O �46?>6E>>7> <G=<F<?4?L=>7> >>DG74 �<657>D>4E>>=

>5?4EF<.

3.3. $47<5EF<FL =4EF>OM<= ?D<>47 =4 >D<F<4?L=>< E4=F5 <<=<EF5DEF64

7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 47?><5D4F<= �<657>D>4E>>=
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> ?D<>47G <<=<EF5DEF64
7D44>EFD><F5?L=>= 45OF5?L=>EF<

< D476<F<O 47?><5D4F<=
�<657>D>4E>>= >5?4EF<

>F ____________ 7 ________________

�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=,
D4E?>?>65==OE 6 �46?>6E>>< <G=<F<?4?L=>< >>DG75 �<657>D>4E>>=

>5?4EF<

1. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, E. /DO<>6>, G?.
�47>D=4O, 4. 52 (�-5-0234�/2022/��/%/��), =47=4G5=<5: �47>?D>6>4-66>4 >
6<?><G 4><G ?> 44D5EG, >444EFD>6O= =><5D: 52:34:0800019:323

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D4=>=, E.
/DO<>6>, G?. �47>D=4O, 4. 52

2. �?>M44L >ED4==>= 7>=O, >6.< 178

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 483041.45 2161496.92
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 483042.56 2161500.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 483039.89 2161501.53 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

4 483032.93 2161503.93
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 483005.25 2161510.62
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 483004.72 2161508.75
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 483000.95 2161509.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 482999.87 2161505.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 483007.49 2161503.82
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 483008.05 2161505.82
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 483031.81 2161500.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 483038.68 2161497.72
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 483041.45 2161496.92
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, 4. �4?F56>, G?.
�5D57>64O, 4. 24 (�-5-0086�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0800029:631

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D4=>=, 4. �4?F56>,

G?. �5D57>64O, 4. 24

2. �?>M44L >ED4==>= 7>=O, >6.< 70
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%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 483972.02 2159163.82
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 483969.32 2159162.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 483956.43 2159155.93
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 483958.23 2159152.36
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 483971.13 2159158.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 483973.82 2159160.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 483972.02 2159163.82
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D-=, 4. �><4D>6>, G?.
�4E4D>64, 6. 4. 7 58 (�-5-0717�/2022/��/��), =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0500010:552

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3
1. �5EF>?>?>65=<5 >ED4==>= $>EE<=E>4O $545D4F<O, �<657>D>4E>4O
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7>=O >5?4EFL, �46?>6E><= D-=, 4. �><4D>6>,
G?. �4E4D>64, 6. 4. 7 58

2. �?>M44L >ED4==>= 7>=O, >6.< 34

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 498710.44 2169992.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 498708.63 2169996.26
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 498704.50 2169994.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 498700.98 2169992.23
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 498702.92 2169988.73
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 498706.37 2169990.64
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 498710.44 2169992.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, E. �DG4F<=>, G?.
�5=<=4, 6. 4. 7 45 (�-5-0743�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0700006:772

%6545=<O >5 >ED4==>= 7>=5
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7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D4=>=, E.

�DG4F<=>, G?. �5=<=4, 6. 4. 7 45

2. �?>M44L >ED4==>= 7>=O, >6.< 31

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 489820.34 2173522.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 489824.25 2173528.97
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 489820.59 2173531.49
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 489818.32 2173528.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 489818.79 2173527.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 489816.97 2173525.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 489820.34 2173522.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, 7. �>DE<4, ?5D.
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�5E>?<?L=O=, 4. 14 �5N5>F: =56<?>5 744=<5 (�-5-1999�/�-�), =47=4G5=<5:
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0600006:1484

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, �>DE<4 7.,

�5E>?<?L=O= ?5D., 4. 14

2. �?>M44L >ED4==>= 7>=O, >6.< 630

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 494017.82 2170424.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 494014.33 2170426.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 494012.81 2170423.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 493999.73 2170401.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 493978.73 2170361.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 493973.04 2170350.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 493972.30 2170349.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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8 493968.30 2170348.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 493934.88 2170292.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 493938.32 2170289.97
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 493970.89 2170344.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 493975.02 2170345.94
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 493976.59 2170348.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 493982.28 2170359.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 494003.22 2170400.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 494016.27 2170421.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 494017.82 2170424.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D-=, 7. �>DE<4, N7>-
6>EF>G=4O G4EFL, GG4EF>> 7 23 (�-5-2054�/�-�), =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0700009:1001

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, 7. �>DE<4,

N7>-6>EF>G=4O G4EFL, GG. 23

2. �?>M44L >ED4==>= 7>=O, >6.< 66
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%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 492729.48 2172110.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 492725.48 2172110.58
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 492725.72 2172105.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 492726.26 2172094.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 492730.26 2172094.22
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 492729.72 2172105.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 492729.48 2172110.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= D4=>=, E. �545>>6>, G?.
&5=FD4?L=4O, 4. 290 (�-5-2145�/�-�), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0500008:587

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3
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1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, E. �545>>6>,

G?. &5=FD4?L=4O, 4. 290

2. �?>M44L >ED4==>= 7>=O, >6.< 264

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 497719.86 2163161.13
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 497719.21 2163159.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 497691.72 2163173.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 497678.64 2163180.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 497672.69 2163183.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 497669.10 2163184.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 497667.92 2163185.11
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 497665.39 2163186.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 497663.82 2163182.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 497666.34 2163181.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-



10

11 497667.50 2163180.93
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 497671.07 2163179.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 497676.85 2163176.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 497689.86 2163169.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 497721.34 2163153.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 497722.29 2163156.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 497723.58 2163159.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 497719.86 2163161.13
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: %5FL 747>D4E?D545?5=<O
=<7>>7> 446?5=<O ?> G?. �EFD>6E>>7> 6 7. �>D54F>6 �46?>6E>>7> D4=>=4
<G=<F<?4?L=>7> >>DG74 (152-21-102-002246), =47=4G5=<5: %5FL
747>D4E?D545?5=<O =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0000000:1003

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= <G=<F<?4?L=O=
>>DG7, 7. �>D54F>6, ?> G?. �EFD>6E>>7>

2. �?>M44L >ED4==>= 7>=O, >6.< 5133

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O
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�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509972.65 2156462.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 509972.79 2156466.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 509967.03 2156466.97
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 509964.64 2156490.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 509965.53 2156523.67
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 509969.36 2156523.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 509969.22 2156527.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 509965.33 2156527.67
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 509963.53 2156541.22
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 509962.22 2156565.67
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 509968.36 2156565.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 509968.34 2156569.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 509962.24 2156569.67
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 509963.62 2156590.68
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 509970.07 2156590.77 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

16 509970.01 2156594.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 509963.91 2156594.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18 509964.79 2156605.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19 509968.42 2156605.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20 509968.13 2156609.78
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

21 509965.13 2156609.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

22 509965.44 2156613.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

23 509968.97 2156615.64
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

24 509966.82 2156619.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

25 509965.22 2156617.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

26 509961.89 2156654.06
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

27 509967.28 2156653.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

28 509967.42 2156657.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

29 509961.32 2156658.08
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

30 509960.77 2156660.63
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

31 509960.02 2156688.67
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

32 509959.88 2156699.09 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

33 509959.39 2156712.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

34 509959.26 2156716.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

35 509961.82 2156734.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

36 509960.67 2156780.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

37 509965.10 2156780.27
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

38 509965.02 2156784.27
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

39 509960.57 2156784.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

40 509960.55 2156784.73
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

41 509958.00 2156793.22
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

42 509957.13 2156822.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

43 509957.53 2156820.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

44 509961.44 2156820.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

45 509955.45 2156849.33
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

46 509954.20 2156905.63
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

47 509962.24 2156905.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

48 509962.12 2156909.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

49 509954.09 2156909.63 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

50 509953.15 2156935.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

51 509962.45 2156935.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

52 509962.13 2156939.93
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

53 509952.98 2156939.20
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

54 509952.22 2156955.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

55 509952.60 2156957.90
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

56 509954.88 2156957.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

57 509953.69 2156991.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

58 509950.58 2157003.12
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

59 509950.12 2157013.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

60 509959.94 2157015.19
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

61 509959.07 2157019.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

62 509949.83 2157017.04
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

63 509948.12 2157035.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

64 509957.35 2157036.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

65 509956.92 2157040.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

66 509947.76 2157039.84 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

67 509947.67 2157040.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

68 509943.69 2157040.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

69 509946.04 2157014.45
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

70 509946.60 2157002.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

71 509949.71 2156991.17
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

72 509950.72 2156961.94
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

73 509949.23 2156962.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

74 509948.20 2156955.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

75 509949.08 2156936.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

76 509950.16 2156907.51
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

77 509951.45 2156848.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

78 509956.63 2156824.40
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

79 509953.08 2156824.33
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

80 509953.15 2156820.74
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

81 509954.02 2156792.58
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

82 509956.57 2156784.09
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

83 509957.82 2156735.11 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

84 509955.26 2156716.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

85 509955.39 2156711.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

86 509955.88 2156698.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

87 509956.02 2156688.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

88 509956.79 2156660.15
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

89 509957.71 2156655.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

90 509961.52 2156614.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

91 509959.75 2156592.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

92 509958.11 2156567.68
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

93 509959.55 2156540.84
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

94 509961.58 2156525.50
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

95 509960.64 2156490.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

96 509963.53 2156461.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

97 509967.51 2156462.26
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

98 509967.44 2156462.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 509972.65 2156462.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

99 509956.65 2156469.67 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

100 509956.86 2156492.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

101 509954.94 2156535.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

102 509954.01 2156571.43
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

103 509954.46 2156592.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

104 509952.56 2156601.68
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

105 509951.70 2156646.75
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

106 509950.73 2156667.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

107 509950.82 2156694.81
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

108 509950.97 2156698.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

109 509949.84 2156702.28
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

110 509947.96 2156709.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

111 509947.95 2156721.57
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

112 509947.14 2156810.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

113 509947.22 2156820.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

114 509949.10 2156820.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

115 509946.24 2156840.11
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

116 509948.04 2156886.14 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

117 509946.82 2156918.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

118 509943.91 2156958.06
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

119 509946.19 2156958.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

120 509942.02 2157030.00
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

121 509940.97 2157040.62
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

122 509939.25 2157047.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

123 509937.51 2157047.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

124 509934.30 2157050.18
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

125 509931.69 2157047.15
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

126 509936.24 2157043.23
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

127 509937.01 2157039.96
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

128 509937.89 2157031.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

129 509933.30 2157029.29
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

130 509934.79 2157025.58
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

131 509938.19 2157026.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

132 509941.95 2156962.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

133 509939.60 2156962.18 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

134 509942.82 2156918.74
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

135 509944.04 2156886.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

136 509942.22 2156839.89
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

137 509944.51 2156824.36
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

138 509943.24 2156824.37
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

139 509943.16 2156812.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

140 509939.88 2156812.34
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

141 509939.97 2156808.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

142 509943.16 2156808.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

143 509943.93 2156723.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

144 509941.51 2156723.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

145 509941.75 2156719.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

146 509943.95 2156719.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

147 509943.96 2156708.62
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

148 509946.00 2156701.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

149 509946.95 2156698.17
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

150 509946.89 2156696.69 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

151 509942.78 2156696.33
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

152 509943.13 2156692.34
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

153 509946.81 2156692.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

154 509946.74 2156669.21
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

155 509944.41 2156669.38
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

156 509944.12 2156665.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

157 509946.82 2156665.19
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

158 509947.61 2156648.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

159 509943.97 2156648.34
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

160 509944.21 2156644.34
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

161 509947.74 2156644.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

162 509948.52 2156603.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

163 509945.05 2156603.36
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

164 509945.11 2156599.36
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

165 509948.94 2156599.42
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

166 509950.46 2156592.22
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

167 509950.05 2156573.45 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

168 509946.80 2156573.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

169 509946.76 2156569.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

170 509950.06 2156569.45
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

171 509950.88 2156537.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

172 509949.92 2156537.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

173 509949.69 2156533.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

174 509951.02 2156533.39
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

175 509952.78 2156494.14
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

176 509948.84 2156493.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

177 509949.33 2156489.68
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

178 509952.84 2156490.12
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

179 509952.70 2156474.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

180 509949.47 2156474.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

181 509949.55 2156470.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

182 509952.66 2156470.65
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

183 509952.65 2156469.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

99 509956.65 2156469.67 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

9. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0.005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, 7. �>D54F>6,
G?. %>65FE>4O, 4. 3, >6. 2 (�-5-2169�/�-�), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0000000:1024

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D4=>=, 7.

�>D54F>6, G?. %>65FE>4O, 4. 3, >6. 2

2. �?>M44L >ED4==>= 7>=O, >6.< 45

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509062.21 2157484.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 509061.85 2157490.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 509057.86 2157490.02
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 509058.21 2157483.78
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 509058.50 2157478.75 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

6 509062.49 2157478.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 509062.21 2157484.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= ��, 7. �>DE<4, G?. �5=<=4,
4. 247 (�-5-0051�/2023/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
>444EFD>6O= =><5D: 52:34:0600027:1518

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?., �46?>6E><= ��, 7. �>DE<4, G?.

�5=<=4, 4. 247

2. �?>M44L >ED4==>= 7>=O, >6.< 26

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 491792.65 2168804.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 491795.04 2168808.01
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 491789.87 2168811.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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4 491787.48 2168808.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 491792.65 2168804.80
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= ��, 7. �>DE<4, G?.
%5?L>>D>6E>4O, <. 6. 4. 7 240 (�-5-0056�/2023/��/��), =47=4G5=<5:
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0600027:1517

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= ��, 7. �>DE<4, G?.

%5?L>>D>6E>4O, <. 6. 4. 7 240

2. �?>M44L >ED4==>= 7>=O, >6.< 84

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 491554.61 2169017.49
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 491556.93 2169020.75
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 491539.82 2169032.92
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 491537.50 2169029.66 �5F>4 E?GF=<>>6OE
75>457<G5E><E <7<5D5=<= -
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(>?D545?5=<=), 0.10

1 491554.61 2169017.49
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0,005 ��4 >F F>G>< ?>4>?NG5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= <G=<F<?4?L=O= >>DG7, 7.
�46?>6>, G?. �??5O �?L<G4, 75<5?L=O= GG4EF>> 29� (�-5-2128�/�-�),
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D:
52:33:0000050:3068

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, �46?>6> 7.,
G?..�??5O �?L<G4, 75<5?L=O= GG4EF>>

29�

2. �?>M44L >ED4==>= 7>=O, >6.< 120

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 491117.85 2159888.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 491116.18 2159891.74
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 491113.28 2159890.41
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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4 491108.54 2159887.52
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 491101.08 2159887.90
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 491093.96 2159885.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 491092.66 2159885.12
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

8 491092.01 2159886.35
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 491088.48 2159884.48
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 491090.61 2159880.44
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 491095.12 2159881.64
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 491101.64 2159883.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 491109.57 2159883.47
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 491115.16 2159886.87
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 491117.85 2159888.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= ��, 7. �>DE<4, G?.
�4>7UD=4O, 4. 7 (�-5-0105�/2023/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0700009:1005

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3
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1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, <. >. �46?>6E><=, 7>D>4

�>DE<4, G?<F4 �4>7UD=4O

2. �?>M44L >ED4==>= 7>=O, >6.< 68

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 492523.56 2172114.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 492527.86 2172130.78
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 492523.99 2172131.79
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 492519.66 2172115.11
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 492523.56 2172114.30
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= ��, 7. �>DE<4, N7>-
6>EF>G=4O G4EFL, GG. 19 (�-5-0808�/2022/��/��), =47=4G5=<5: �47>?D>6>4-
66>4 > 6<?><G 4><G, >444EFD>6O= =><5D: 52:34:0700009:1006

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D-=, �>DE<4 7.,
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N7>-6>EF>G=4O G4EFL, GG. 19

2. �?>M44L >ED4==>= 7>=O, >6.< 59

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 492614.34 2172096.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 492616.37 2172111.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 492612.41 2172112.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 492610.38 2172097.32
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 492614.34 2172096.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= ��, 7. �>D54F>6, G?.
�>D>6E>>7>, 4. 11 (�-5-0099�/2023/��/��/�), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0400008:423

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, <. >. �46?>6E><=, 7>D>4
�>D54F>6, G?<F4 �>D>6E>>7>, 4. 11
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2. �?>M44L >ED4==>= 7>=O, >6.< 32

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5
1 509193.86 2156917.18 �=4?<F<G5E><= <5F>4, 0.10 -
2 509197.76 2156918.06 �=4?<F<G5E><= <5F>4, 0.10 -
3 509197.10 2156920.97 �=4?<F<G5E><= <5F>4, 0.10 -
4 509196.60 2156923.29 �=4?<F<G5E><= <5F>4, 0.10 -
5 509196.06 2156925.92 �=4?<F<G5E><= <5F>4, 0.10 -
6 509192.14 2156925.12 �=4?<F<G5E><= <5F>4, 0.10 -
7 509192.68 2156922.47 �=4?<F<G5E><= <5F>4, 0.10 -
8 509193.20 2156920.11 �=4?<F<G5E><= <5F>4, 0.10 -
1 509193.86 2156917.18 �=4?<F<G5E><= <5F>4, 0.10 -

16. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= ��, 7. �>D54F>6, G?.
'<G5D<=4, 4. 55 (�-5-0083�/2023/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7>
446?5=<O, >444EFD>6O= =><5D: 52:34:0400001:1215

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?., �46?>6E><= ��, 7. �>D54F>6, G?.

'<G5D<=4, 4. 55

2. �?>M44L >ED4==>= 7>=O, >6.< 43

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O
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1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509854.66 2156584.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 509851.76 2156584.04
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 509851.91 2156580.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 509854.84 2156580.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 509862.63 2156580.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 509862.43 2156584.55
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 509854.66 2156584.16
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= ��, 7. �>D54F>6, G?.
�>D>6E>>7>, 4. 7 34 (�-5-0091�/2023/��/��/�), =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0400002:870

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= ��, 7. �>D54F>6,

G?. �>D>6E>>7>, 4. 7 34
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2. �?>M44L >ED4==>= 7>=O, >6.< 65

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509609.09 2156938.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 509613.11 2156938.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 509613.07 2156949.53
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 509613.17 2156954.94
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 509609.17 2156955.02
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 509609.07 2156949.56
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 509609.09 2156938.88
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?., �46?>6E><= ��, 7. �>D54F>6, G?.
�D4644=E>4O, 4. 3 (�-5-0092�/2023/��/��/�), =47=4G5=<5: �47>?D>6>4
=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0400001:1214

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3
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1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= <G=<F<?4?L=O=
>>DG7, 7. �>D54F>6, G?. �D4644=E>4O, 4.

3

2. �?>M44L >ED4==>= 7>=O, >6.< 45

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 509648.15 2156832.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 509644.15 2156832.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 509644.15 2156826.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 509644.14 2156821.71
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 509648.14 2156821.7
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 509648.15 2156826.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 509648.15 2156832.83
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4>
0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4>
>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= <G=<F<?4?L=O=
D4=>=, E5?LE>>5 ?>E5?5=<5 &4D5<E><= E5?LE>65F, E. &4D5<E>>5, F5DD<F>D<O
%%0900018, 4. 84 (�-5-2213�/�-�), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O,
>444EFD>6O= =><5D: 52:34:0000000:1036



33

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= <G=<F<?4?L=O=
D4=>=, E5?LE>>5 ?>E5?5=<5 &4D5<E><=
E5?LE>65F, E. &4D5<E>>5, F5DD<F>D<O

%%0900018, 4. 84

2. �?>M44L >ED4==>= 7>=O, >6.< 514

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 486738.77 2155449.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 486736.81 2155449.66
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 486736.46 2155449.74
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 486735.55 2155449.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

5 486732.34 2155450.54
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

6 486721.95 2155450.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

7 486717.99 2155450.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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8 486717.21 2155450.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

9 486712.16 2155449.92
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

10 486688.33 2155445.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

11 486674.40 2155435.00
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

12 486674.09 2155426.05
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

13 486673.66 2155413.60
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

14 486673.56 2155410.73
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

15 486672.48 2155379.69
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

16 486669.00 2155374.25
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

17 486672.37 2155372.10
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

18 486676.44 2155378.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

19 486677.56 2155410.59
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20 486677.66 2155413.46
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

21 486678.09 2155425.91
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

22 486678.33 2155432.95
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

23 486689.98 2155441.70
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

24 486712.90 2155445.99
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-
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25 486717.54 2155446.86
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

26 486717.91 2155446.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

27 486721.87 2155446.76
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

28 486731.94 2155446.55
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

29 486734.73 2155446.04
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

30 486735.54 2155445.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

31 486736.66 2155445.58
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

32 486739.42 2155446.03
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 486738.77 2155449.98
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

20. �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G
4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, �46?>6E><= D4=>=, 7. �>D54F>6, G?.
�D4644=E>4O, 4. 14 (�-5-0189�/2023/��/��), =47=4G5=<5: �47>?D>6>4 66>4-
=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:34:0400001:1218

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>=
7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1. �5EF>?>?>65=<5 >ED4==>=
7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O
>5?4EFL, �46?>6E><= D4=>=, 7.

�>D54F>6, G?. �D4644=E>4O, 4. 14

2. �?>M44L >ED4==>= 7>=O, >6.< 34

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O
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1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O
>>>D4<=4F < ED54=OO

>644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O
E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 510051.97 2156822.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

2 510051.79 2156831.26
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

3 510047.80 2156831.17
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

4 510047.98 2156822.77
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

1 510051.97 2156822.85
�5F>4 E?GF=<>>6OE

75>457<G5E><E <7<5D5=<=
(>?D545?5=<=), 0.10

-

______________________


